THIS SIDE UP FOR RHR DOOR

CAUTION \
SECURITY DOOR CONTROLS m» WWW.SDCSECURITY.COM

801 Avenida Acaso, Camarillo, CA 93012 DO NOT USE DOOR EDGE
[t] 800.413.8783 m 805.494.0622 m E-mail: service@sdcsecurity.com

|
|
TEMPLATE-S6203-SP03 | 5
Devices covered by this template: . E i Q
Panic / Fire SVR Exit Device with 03 Night-Latch Pull Plate s ~ Q | i‘
RHR PREP | s
5! g
v | =
| o | 9
m pzd
: o1 3
(4x) DEVICE MOUNTING HOLES (4™ hole shown on Trim Template) | ' g | Z
TRIM: DRILL 5/16" CLEARANCE HOLES ON PUSH SIDE ONLY | n | 8 poom
1-9/16 S q
! 3
. v
| i
|y - & - !
(2x) END CAP BRACKET HOLES 5/8" CLEARANCE HOLE FOR RIM CYLINDER. | . !
METAL: DRILL / TAP FOR 1/4"-20 MACHINE !
SCREWS. : |
|<—25/32" |
WOOD: PRE-DRILL 1/8" HOLES. ! |
2.9/32" ; TO FACE OF STOP
SEXBOLTS: DRILL 5/16" CLEARANCE HOLES | j——— —— — — | | |
ON PUSH SIDE, 3/8" ON PULL SIDE. F e o ol
: 2-7/16 d
: [
i
i
|
._._._._Q.QF._._._._l_g/le". . . . L] — . C—_— | — ___QEFJ________
A DEVICE —f s DEVICE |
) [
[
i
|
OPTIONAL 1/2"dia. / [
WIRE RUN f———— _—— — |
/ 2-3/4" !
[
8-3/16" !
[
AFTER EXIT DEVICE IS MOUNTED, i
INSTALL END CAP BRACKET | :
CENTERED ON DEVICE ¢ A _ !
40" 4" Hole is off . |
template. Refer I
Watch for special tof;rrrlir:s'il;‘eem;'lzte N __$7 C—_— . — |
mounqng height outside install. T |
requirements l :
‘ 7/8" | !
v : 3
I >
| L | L 8! &
! 0 - ﬂ
\ . J g
[
T i

(2x) DEVICE MOUNTING HOLE- DO NOT DRILL THRU DOOR
Any suggestions or comments to this instruction or

METAL: DRILL / TAP FOR 1/4"-20 MACHINE SCREWS. le——1-31/32"—> /

|

WOOD: PRE-DRILL 1/8" HOLES. :

FINISHED FLOOR FOLD HERE !
product are welcome. Please contact us through

I
P:AINST INSTRUCTIONS\EXIT DEVICES\TEMP-S6203-SP03 REV B 01-25 Page 1 | our website or email engineer@sdcsecurity.com
I



THIS SIDE UP FOR LHR DOOR

PLACE THIS SIDE ON FRAME STOP

FRAME STOP

P:AINST INSTRUCTIONS\EXIT DEVICES\TEMP-S6203-SP03 REV B

FOLD HERE

i
. CAUTION
! DO NOT USE DOOR EDGE
|
| «
8
I A
- a
| ©
-8
I &
)
| T
'_
L
8}
3
|

| TO FACE OF STOP

I DEVICE

DOOR

—1-9/16"
I

| | '
.<—2—7/16"—>|

.«25/32"»|

(4x) DEVICE MOUNTING HOLES (4™ hole shown on Trim Template.)

P TRIM: DRILL 5/16" CLEARANCE HOLES ON PUSH SIDE ONLY.

/ 5/8" CLEARANCE HOLE FOR RIM CYLINDER.
9/16"

2-9/32"

2-3/4"

7/8"

|

),

FOLD HERE

01-25 Page 2

«—1-31/32"—— >

|

R
—_——_. e e —_—_ =

8-3/16"
AFTER EXIT DEVICE IS MOUNTED,
INSTALL END CAP BRACKET
" ) CENTERED ON DEVICE C
4" Hole is off

template. Refer

to Trim Template
for inside and
outside install.

-y

(2x) DEVICE MOUNTING HOLE- DO NOT DRILL THRU DOOR
METAL: DRILL / TAP FOR 1/4"-20 MACHINE SCREWS.

WOOD: PRE-DRILL 1/8" HOLES.

SDC|

SECURITY DOOR CONTROLS m» WWW.SDCSECURITY.COM

801 Avenida Acaso, Camarillo, CA 93012

[t] 800.413.8783 m 805.494.0622 m E-mail: service@sdcsecurity.com

TEMPLATE-S6203-SP03

Devices covered by this template:
Panic / Fire SVR Exit Device with 03 Night-Latch Pull Plate

LHR PREP

(2x) END CAP BRACKET HOLES

OPTIONAL 1/2"dia.
WIRE RUN

METAL: DRILL / TAP FOR 1/4"-20 MACHINE
SCREWS.

WOOD: PRE-DRILL 1/8" HOLES.

SEXBOLTS: DRILL 5/16" CLEARANCE HOLES

ON PUSH SIDE, 3/8" ON PULL SIDE.

40"

Watch for special
mounting height
requirements

FINISHED FLOOR




gm@ SECURITY DOOR CONTROLS = WWW.SDCSECURITY.COM
[t] 800.413.8783 m 805.494.0622 m E-mail: service@sdcsecurity.com m 801 Avenida Acaso, Camarillo, CA 93012 m PO Box 3670, Camarillo, CA 93011

TOP LATCH
TEMPLATE

(3x) Top Strike Holes
METAL: DRILL / TAP FOR 1/4-20

MACHINE SCREWS

«  1905/30" ALIGN STRIKE BEFORE
INSTALLING THIS SCREW

AN
WOOD: 1/8" PILOT DRILL |
|
TOP STRIKE I_ I T
o I 7/8"
PLACE THIS SIDE ON 19/32"I | i FOLD HERE
TOP FRAME. | N S — A B | /
PLACE THIS SIDE ON L —— = —
DOOR SURFACE SIDE : I (.
— — — I
| |
| |
— e ——_
P 2-3/8"
| |
(2x) TOP LATCH HOLES : |
METAL: DRILL / TAP FOR 1/4-20" |
MACHINE SCREWS #:—\ ! |
' |
WOOD: PRE-DRILL 1/8" HOLES : . @_ o v
A
| - |
|
| | , 5-19/32"
| |
|
I |
W | ' T
i | | 2
| )
% : TOP LATCH I 3-7/32" 8
c'?) I | A
0% | m
o [ ' 3
(LB | I m
a [ I 2
I&J | | wn
O ' | . S
8 | ) I |
| Ul
T | . @ | w w 5
| b
of
BACKSET |_Aq: CH BACKSET
<—2-7/16"—T—2-7/16"—>

P:AINST INSTRUCTIONS\EXIT DEVICES\TEMP-S6203-SP03 REV B 01-25 Page 3



g@@ SECURITY DOOR CONTROLS = WWW.SDCSECURITY.COM
[t] 800.413.8783 m 805.494.0622 m E-mail: service@sdcsecurity.com m 801 Avenida Acaso, Camarillo, CA 93012 m PO Box 3670, Camarillo, CA 93011

BOTTOM LATCH
TEMPLATE

(NOT REQUIRED FOR LBR DEVICE)

BACKSET . BACKSET
<—2-7/16"—>L—2-7/16"—>

I
I
(2x) TOP LATCH HOLES | i 1
METAL: DRILL / TAP FOR 1/4-20" |
MACHINE SCREWS |
I
WOOD: PRE-DRILL 1/8" HOLES | |
I I
I I
I I
L I | §
< | | 3-7/32" By
o | I o
o ®)
O | BoTTOmMLATCH | 3
= | | 7
| | g
o _ " (w)
S | | 4-11/16 g
w m
(O] | | (@)
9 I [ I by
% I : I @
o b ] S
) I n
: >
o ! | z
4 | | | m
I I
| G of | 1-15/32
| LATCH |
FOLD HERE Bottom Edge of Door ‘ :_ I PLACE THIS SIDE ON
4 DOOR SURFACE INSIDE.
\ 1/4" , ‘
= f | “
PLACE THIS SIDE ON TOP OF
FINISHED FLOOR 27/32" FINISHED FLOOR OR TOP OF

PANIC THRESHOLD

DRILL @ 3/4" HOLE
2-1/8" DEEP

~—1-13/16"——»

P:AINST INSTRUCTIONS\EXIT DEVICES\TEMP-S6203-SP03 REV B 01-25 Page 4



gm@ SECURITY DOOR CONTROLS = WWW.SDCSECURITY.COM

[t] 800.413.8783 m 805.494.0622 m E-mail: service@sdcsecurity.com m 801 Avenida Acaso, Camarillo, CA 93012 m PO Box 3670, Camarillo, CA 93011

INSTALLATION INSTRUCTIONS

SPO3U

S6200 SVR SATURN ESCUTCHEON 03 NIGHTLATCH PULL PLATE

INSTALLING RIM CYLINDER TO PULL PLATE
1. Install rim cylinder through the wave disc spring and then the tapered cylinder collar. (Do not use any other collar).

2. Insert the rim cylinder through hole in pull plate. Then on the back side of the pull plate, place the cylinder retaining cup over the rim
cylinder with the tailpiece through the cylinder guide.

3. Use two (2) break-off screws and fasten the cylinder retaining cup to the rim cylinder assembly.

Cylinder Retaining Cup

Tapered Cylinder Collar
with Head Recess
(Use: 861B
or equivalent)

=
Break-off Screws

(Provided with Rim Cylinder)

NN\

Secure Cylinder Retaining
Cup to Rim Cylinder with

N\

Wave Disc Spring
(Provided with
Rim Cylinder)

Tabs must fit into
slot on pull plate

~
D
7
e
\Pull Plate

Tailpiece
(Trim Actuating Shaft)

Rim Cylinder
(Not provided —
Sold separately)

INSTALLING PULL PLATE

1.

2.

Use template to mark hole locations on door.
Drill holes into door.

Insert the pull plate four (4) mounting posts and
cylinder assembly through holes in door.

Rim cylinder tailpiece should insert into the exit
device cam. If tailpiece is too long and protrudes
from the door’s interior surface, carefully
measure and mark the tailpiece at the closest
break-off line. Then use pliers, break tailpiece at
marked break-off line to achieve the appropriate
length.

Fasten the pull plate and the exit device using
three (3) of the supplied mounting screws.

With surface vertical rods not installed, depress
and hold the push bar to retract the sliding
blocks from the chassis assembly, exposing the
mounting hole into pull plate mounting post.

Install the last three (3) mounting screws to
complete fastening the pull plate and exit device.

Proceed with completing the remaining SVR
device installation steps.

NOTE: Standard 1-3/4" Door used to show Door
Prep and Mounting.

Device Chassis

PAINST INSTRUCTIONS\EXIT DEVICES\TEMP-S6203-SP03 REV B 01-25 Page 5

Break-off Screws

Rim Cylinder Tailpiece
goes through Cylinder
Retaining Cup Guide

Mounting Screws (x2)
Install it thru device chassis &
into pull plate mounting posts

Device Chassis

T @ 1-5/8" (41mm) Cylinder Hole
Hole on Pull Side (Not Required for Dummy Pull Plate)

re
e
g

\

Mounting Screw
Install it thru inside face of door
into pull plate mounting post

Mounting Holes (x4)

@ 5/16" THRU (8mm)

Holes on Push Side Only

@ 15/32" (12mm) - DO NOT DRILL THRU DOOR
Holes on Pull Side Only

Push Bar

Mounting Screw

Install it under chassis assembly
sliding block & thru inside face of
door into pull plate mounting post

Mounting Screws (x2)
(Provided with Exit Device)
Install it thru device chassis

& into door

Mounting Hole

For install under chassis assembly
sliding block & thru inside face of
door into pull plate mounting post

Mounting Holes (x2) - DO NOT DRILL THRU DOOR
For install thru device chassis & into door

Metal: Drill/Tap for 1/4"-20 Machine Screws
Wood:  Pre-Drill 1/8" Holes



SECURITY DOOR CONTROLS =

SDC

WWW.SDCSECURITY.COM

TEMPLATE

TEMP-SPO03

[t] 800.413.8783 m 805.494.0622 m E-mail: service@sdcsecurity.com m 801 Avenida Acaso, Camarillo, CA 93012 m PO Box 3670, Camarillo, CA 93011

SATURN ESCUTCHEON 03 NIGHTLATCH PULL PLATE

Note;

This template is used for Rim Mount and Surface Mount Vertical
Rod Devices. It is not available for Concealed Vertical Rod Exit

Devices and Mortise exit devices.

Mounting Holes (4X)

DRILL @ 5/16" THRU
HOLES ON PUSH SIDE ONLY

DRILL @ 15/32" - DO NOT DRILL THRU DOOR
HOLES ON PULL SIDE ONLY

«—1-9/16"—

PULL SIDE

5-1/32

FACE OF STOP

«—25/32"» \
2-9/32"
G of 4
Exit Device A
Cylinder Hole
2.3/4" CUT OUT @ 1-5/8" HOLE
ON PULL SIDE.
(NOT REQUIRED FOR
DUMMY PULL PLATES)
\
A
GE of
8-3/16" Pull Plate
Corresponds
with Exit Device
TO FACE OF STOP TO
- 2-7/116"——————— ><+———————————2.7/16"
BACKSET BACKSET
.
Y T
> C
=1 F |5716
%) (2]
ol ®
v
\j |
P:\INST INSTRUCTIONS\EXIT DEVICES\TEMP-S6203-SP03 REV B 01-25 Page 6

PULL SIDE

FRAME STOP

FRAME STOP

CAUTION
DO NOT USE DOOR EDGE

G of

Exit Device



	TEMP-S6203-SP03.vsdx
	Page-1
	Page-2
	Page-3
	Page-4
	Page-5
	Page-6


